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— N [’él; )JL“PE:TF WQ‘J;‘#RBF%%’_]F;»&T ’25—12&7 'E\ B 7ﬁol§+y—-ﬂll (fittedmodeD :‘%
y=2.341+1.616x%; +0.014x, -
2 %3 @A 45 (ANOVA) 4

Source Sum of Squares df F PR>F
Model 5550.8 (A) (D) 0.000
Error (B) ©
Corrected Total 5784.5

()2 E ~ ANOVA £ 7 (A)~ (B) ~ (C)f=(D) 2 #F - (54 )
CFF Pt FHAELIHEE (a=5%) ? (54)
E%F X 5 ¢ 2% 4L (design matrix) > *®
0.1132 -0.00445 -0.00008
(XX)t=|-0.00445  0.0027 -0.00004
-0.00008 -0.00004 0.000001
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Bt gzatfepd B (a=5%) o (f=A & (critical value) =344 - ) (154 )

-~ ERCA Y R R R Ak R (multlcolllnearlty) $HEFEEP B4
P #E%k F)3  (variance inflation factor, VIF ) & %7 &4 - i 3p 1%
=) VIF ii;iﬁa% PP VIF fex s nbd % o (10 4 )

OF BT 5 B3 %8 Xy, Xo, X3, Xg, Xs 71 32 §F Tl 3-S5 5 40
Variable b; se VIF
Intercept 0.830 0.318
X1 -0.012 0.647 (0.002)*
Xo 0.199 0.483 (0.001)™
Xa -0.117 0.178 (0.010)*
X4 -0.367 0.294 (0.008)™
Xs 0.186 0.147 (0.009)'l
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=Ry 2 BEFRERL - B HRERFERIL > F0ry e ke RiER (all
possible subsets selection ) & % 4=+ ( b; & & Eﬁf‘ Rl fi it B )
p—1 R? Co bo by b, bs
1 0032  75.45 077  0.325
1 0705  11.85 0.27 1.361
1 0707  11.67 | -0.36 1.103
2 0.759 879 | -029  -0.463 1.255
2 0.808 312 | -0.19 0781  0.633
2 0.830 203 | -093 0655 1487
3 0.831 400 | -012 0737 1589 -0.094

Qird) Cpr M LA+ (104)
E)d A *% k5o B EHAL P2 AR AR (104)

THFHSF#aF 80 #1261 90 2223 »E R}

~~

¥ 81 82 83 84 85 86 87 88 89 90
80 # {52 & &, X 1 2 3 4 5 6 7 8 9 10
F73(F =)y 6.1 6.8 7.5 8.5 9.3 10.5 115 12,625 13.975 14.975

Od (y, x)2-%c* B (scatter plot) #H y fo X 0 f"*ﬁ?:d%-%fryzaeﬂx o FR1E - R
#A] 0 JE -y (T 4 (transformation) ? 38 e s A o (10 &)

D24 7,5 F Ry @i aE > ¥ 30 72,=22783> 310 %2, =133.686 © & a Ir
B ek L2 g2t E (least square estlmate) (10 &)

ERHBEO2 % > Fp 100 @2 faFle %1~ 8285 - (10 4)

B (Vi) X))l Y = By + BiXig ++ BpXip +& 0 i=1..,n o £ by 5w F il 2 &
J:L-» #3380 j=01,.,p c ¥ &h® #7-5 7 % (Gauss-Markov ) = 12 §_%t

Iﬂ, TR FUNE: I |0,---,|p"5‘Lb rrm:g‘rg & 4z it Gauss-Markov 7_32 %
H ,p,\& (E eI (10/%)



